2420 22t s00

244+ %4 06+ 92464498+ 2" <590

12\-,
254 +2" =510
" 28< 8%
9" - 256 25¢
|99 1"= log 256
2 yp_
n = Iogzm 5 1
) I ank dn w0 . 2
g \{ M“\J 12 £ 2%0
81%3,:10 dnsa- an=3 234 ©
dat@atd) 10 anrud-an =3 8172 d ) +ays 2dip gy
2 3 a
231+ 410 u =3
. ; 340
25,23510 d< 03 00d + () 3001 9)
3 2 ¥ Ty
2,° V-39 210 4 N0
2
£ : (170
31= 1% g0
4 1240
o
YsUaey
65N % Y
B
g
(k<) 4+ (y-s5)F a
=) 27
9 2y Al
(hiley < 13;9) I3
a=2
b<s Fix) - 3
c«25-8=4
(fog\/(x):'h?.m
Y (3,1
FLn,o U, £t =35 4
Feo P2
F1,10)5)
(3,9 (0,5/)
med,y-segy N
3 D
9y-15 »4x <+
o
4X-3y+15-0 =5
1221415 -4
£O3015 - 24, |~ X<-3 S
7 =
= 1= X+3 =
§ N 2 <D -3¢9-% s
S g\ ’;D*X‘” X<+ 3
e 19 <x (<2
@ 9 (—Qv
A7 10 —_—
2 v, s
¥1,4 74
sz
S ,%04,56)%
Q"‘ =
~ "
Y e ey
EY R
f’,.{“‘ s e ~
= ﬁ U\) [ Ve)
Dy =
£ —
- =
s g S
z -

140
149

100

%
*8e0 - )20

Y00

2
20 11120\

060
#1609

120

Ny s
V14

50 - 1240

nlA-B 1 uiB-43):120
n (@ us) - (AnpJ=120

Nn(A <A
(A0B) 10
N1AYV:4X 17
nisy: g X 132
X+ Xs120

L&)



v
ise C,F,0 B 6 4 F
n. w D S 5 20
5. o/D cFE Q)B4 ] M9~
3 O l\l\l ‘ A \E\ — «V_\ _W.m,.o : \ww N
S mo) 2,13 9y 7= 4
g " 25 \P A - AT c: E @ \NQ \&B\&‘m@@\ — ﬁ;%\.ﬁv..
% 6 10,5 _ﬁ::_._r.r\ o,m. kw Qvul\Ob @@ O\O \@\ S
049 HET CVaacyyy oy BOMSTaMdeny o \a.,o ' 50 = /9 I
) M\\W\<K 55.9».:88 \%\Xﬁ 1 / v«w
'S 2 -
RN EROY MR V0 gy
) ~
g vl  Vhss 3 2 50 iy m
Sk ; K 9 g

= 5t -&,bv:
EARRPRNE VSR RRRRR P NRRE /R0 P ?
< VALVAVAIVARY @N ) / NRWNR

8 b e Q%»@ mw
I Wv« \
& 2 252
© M\NVS/Q XD A .
o L o \Nsﬁ AX(m /.
T T < L Mx/) E 2,10 8
| N X0l 004 @
— b a T4+ =2 oL \N
TF L =5 " <0 @Nw@ A2 e h
= Ny Sy 2%5%a0) ),
T 1 = (gq 02 Qe Lo
<t — N o W |/.®
J Lﬁ :ﬂ,n ‘ HP/N “mnbl¢q0§/w
Liml = gi ?NF/@ Q\h
./



